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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
MIIEELES 20,000 0 20,000
O CEAHE ZZ20Y 2% ZA=Y
2,000,000& x10& 20,000
= 20,000
307 glz2tol & 47,000 88,000 A 41,000
= 47,000
01 22724l 17,000 24,000 AT,000
O Ots HdZsd Z2)8 2
100,000& x17H =103 17,000
= 17,000
10 A3l S X2 = 30,000 64,000 A 34,000
OEEARE Z20H 24 30,000
= 30,000
405 XtAHE SHI 5,000 5,000 0
= 5,000
01 AR ESFH S 5,000 5,000 0
OEYARE Z20Y 2g2d HI|172Y 5,000
= 5,000
MRS (=UME=31t) 319,888 0 319,888
WEHHX = 319,888 0 319,888
EESII=EEH dES 319,888 0 319,888
701 JIEISI AN =3 319,888 0 319,888
01 JIEtel HE &= 319,888 0 319,888
OA2LE23INI=SEL3H 8&3 319,888
HH2HZH (U ME =T D) 57,957 87,034 AN29,077
Jl= &l 57,957 57,647 310
FoME=EIT1L I3l 57,957 57,647 310
201 £B-2%H| 24,300 24,840 A 540
01 At 22l 24,300 24,840 A 540
OZSH 0ol &t 19,440
O=&tdl S0l at 4,860
202 44l 29,457 28,607 850
01 = LH 4 b 29,457 28,607 850
O=0 bl 29,457
203 YR =&t 4,200 4,200 0
04 FN2ELRZ=TH| 4,200 4,200 0
OFME=I Y fFA2ZH 350,000 <128 4,200
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